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Answer AL questians
PART A (10 2= 20 marks)
o iy fon bemefite of the datahase approscs

Given twa relarions R and R2 where RY eoncans N1 ples, B2 contains N2
Luples and N2 K120 o wha selational oporators, ihe minitaum and
i sz are ©nd N1 respectively and how?

@RI R2

R
G Bt and ()

won

Mention the variows ypes of Luser josn operations. Wy is Uheta joun used?

Considor a relation 14, . C. D, 3 with the follawing dependeacies
ARSC.CDSE. DE—R

e AP w camdddiate ke of this selation? I aot, is AZD? Tustify your answer

Whieh aperations can he performed cficiontly an eneh of the file
Which operations ure expunsice?

sanizations?

G Anuneurdered fle
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Dissinguish between dense and spas

nddexes.

Fisof the ACID propertios Lo be possessed by any fransaction

Fow do wait-dic and wist-viound strategics work out to avoid deadinck?

List down the three basscal ways by which an XML document

gt be stored

0 a dutabase

Define the term éata warehousc.

)

PART B (5 16 = 80 marks)

Develap the ER iodel for Lise “Company” schema. Explain the proccdure

involved and show Uie foal T diagram. Tnelude entitics like employe

department, project ete. You car add mave relevant eatities when needed.
Design and justify the attributes, relationships and cardinality required
for the domain, s
or
o s the achitectare of DBMS witk suitable block diggram i)
Gt Compare and contrast he features of network., hieszrehecal-and
relutional model in deselopung any appheation systom. Explaiz
with u suitable cxerple @

Consider  the  relation REFRIGMODEL ¥ VEAL,  PRICE,
MANUF_PLANT,  COLORI,  which  1s  abbreviated  as
REFRIC OW,Y,P,MP,C1 aad the following set F of funcsional dependencies

F

M MPAMY) = PP 0

G Braluate each of the fillowing as o candidate key for REFRIG,
fovimg reasans as to why it an or cannol be a key: (M1, IMLY, (ML

it Based un the above key determinution, state »

hether the relation
REFRIG is in 2N and in BONE, also givitug proper reasons (61

Gt Consider 70 decompesitions ol REFRIG into 1) = {RIMY,7,
RAMLMP.CHL 1 this decomposicion Iossless aad non-additive?
Show why. @

o
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Consider the conceptual data modcl of & personnl system of
siven o

KMPLOVER|Eanirse o] Frepiogee Nune| Designaton] Depariment]
i . o

KL, [Fonplme Cob] raiting Gata] Poreont Siil]

RAINING [Toaining Code| Nome_of Tesving] Ferioa] Food Togizers ot

TRAINERS [Trasner

i

i [ivaaro e i

Write SQL queries for the Tllowing:
(0 To display all fields from TRAINING in an ordered manner oo
Teainer's code W
G Create w  view consisting  of fields (Training Code
Name_of Urainizg, Period; from TRAINING when Fees is Jess than
ar equal to 20, 000 “

i1 o groap the rocords i SKILL relation based on Traimiog,
and then display the fiends  Eraployee Code, Trainiag Code and
Percent Skl [y

G Update the Percent Skill ith 70% for Employee_Code "E290° and
Training . Codo “T02 in SKILL. -

Discuss the varions indexing senemes availuble i DERS, stating the
meits and linitations i each scheme. Iustrate with suilable exunples.
81

o

G Eaplain the seeurics
Tangunges [}

features provided by the commercial quers

Gl Narrate the steps invalved in query pracessing. How cao the cost of
the quers he estimated? ®

State the f§ the 2-phase lacking protocol. (i1 the -phase locking protacol
Tspluin as to how exactly 2-phase locking deals with RW, WR and
W conflicss s

or

ribe how thoy cn be
controlled usiag serislizable transactions. 161

Brief the three coneurrency problems.
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[image: image4.jpg]W Analyse with a snitahle exanple the fandamental consponents, eperatezs

o i am ahjert relation syt it

o

00 0 What do son mean by data fragmentation i a distribeied
dolabase? What are s lypes? Explain each Grpe vtk i cxatiple
[

the various challenges and issues Bl by data o

i Dise

algorithzas.
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